Pendulum phase portrait illustration

Information about this file
The velocity and position of a pendulum, against time

The velocity and position of a pendulum, take time off any axis
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The tables and graphs in this file depict the movement of a pendulum. For further information of how it
is drawn, please see https://wikipedia.org/wiki/File:Pendulum_phase_portrait_illustration.svg
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From position 2, the pendulum decelerates to
the highest position, which is 3. Hence, the
velocity is declining, but position is rising, just
less and less at each point in time
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